

We defined previously the spectral measure of a representation
$$V = \bigoplus_{n \in \mathbb{N}} \mathbb{N}^{k}$$

of a finite group \mathbb{B} .
 $\mathbb{P}_{V} [\lambda] = \max_{n \in \mathbb{N}} \dim_{V} \mathbb{N}^{\lambda}$.
 $\mathbb{E}_{V} [\lambda] = \max_{n \in \mathbb{N}} \dim_{V} \mathbb{N}^{\lambda}$.
 $\mathbb{E}_{V} [\lambda] = \max_{n \in \mathbb{N}} \dim_{V} \mathbb{N}^{\lambda}$.
 $\mathbb{E}_{V} [\lambda] = \max_{n \in \mathbb{N}} \dim_{V} \mathbb{N}^{\lambda}$.
 \mathbb{D} -finition: The denoter of V is $d_{V}(g) = t - g(g)$.
 \mathbb{D} -finition: The denoter of V is $d_{V}(g) = t - g(g)$.
 \mathbb{D} -finition: The denoter of V is $d_{V}(g) = t - g(g)$.
 \mathbb{D} -finition: The denoter of V is $d_{V}(g) = t - g(g)$.
 \mathbb{D} -finition: The denoter of V is $d_{V}(g) = t - g(g)$.
 \mathbb{D} -finition: The denoter of V is $d_{V}(g) = t - g(g)$.
 \mathbb{D} -finition: The denoter of V is $d_{V}(g) = t - g(g)$.
 \mathbb{D} -finition: The denoter of V is $d_{V}(g) = t - g(g)$.
 \mathbb{D} -finition: The denoter of V is $d_{V}(g) = t - g(g)$.
 $\mathbb{E}_{V} [X^{N}(g)] = \sum_{n \in \mathbb{N}} m_{N} \operatorname{ch}^{N}(g) = \frac{d_{V}(g)}{\dim_{V}} = \mathcal{X}^{V}(g)$.
 $\mathbb{E}_{V} [X^{N}(g)] = \sum_{n \in \mathbb{N}} m_{N} \operatorname{ch}^{N}(g) = \frac{d_{V}(g)}{\dim_{V}} = \mathcal{X}^{V}(g)$.
 $\mathbb{E}_{V} [X^{N}(g)] = \sum_{n \in \mathbb{N}} m_{N} \operatorname{ch}^{N}(g) = \frac{d_{V}(g)}{\dim_{V}} = \mathcal{X}^{V}(g)$.
 $\mathbb{E}_{V} [X^{N}(g)] = \sum_{n \in \mathbb{N}} m_{N} \operatorname{ch}^{N}(g) = \frac{d_{V}(g)}{\dim_{V}} = \mathcal{X}^{V}(g)$.
 $\mathbb{E}_{V} [X^{N}(g)] = \sum_{n \in \mathbb{N}} m_{N} \operatorname{ch}^{N}(g) = \frac{d_{V}(g)}{\dim_{V}} = \mathcal{X}^{V}(g)$.
 $\mathbb{E}_{V} [X^{N}(g)] = \sum_{n \in \mathbb{N}} m_{N} \operatorname{ch}^{N}(g) = \frac{d_{V}(g)}{\dim_{V}} = \mathbb{E}_{N} \mathbb{E}_{N} \mathbb{E}_{N}$.
 $\mathbb{E}_{V} [X^{N}(g)] = \sum_{n \in \mathbb{N}} m_{N} \operatorname{ch}^{N}(g) = \frac{d_{V}(g)}{\dim_{V}} = \frac{d_{V}(g)}{(d_{N})} = -\frac{d_{V}(g)}{(d_{N})} = \frac{d_{V}(g)}{(d_{N})} = \frac{d_{V}(g)}{(d$

If all the (irreducible) characters of G toke red volves, then this isometry comes from the isometry $R(G) \longrightarrow Z(RG)$ $V^{A} \longmapsto dh^{A}$. Lemma: This works for G = S(n). $\frac{\underline{lemma}}{\underline{lemma}}: \text{ This works for } G = (\operatorname{Sn}).$ $\frac{\underline{lemma}}{\underline{rader}} \cdot \begin{array}{c} \forall g & \exists n \geq 1 \\ g^n = 1 \\ eigenvolues \end{array} \xrightarrow{} \begin{array}{c} g^n(g) \text{ is } \Rightarrow \text{ unitary motrix whose} \\ eigenvolues \end{array} \xrightarrow{} \begin{array}{c} eigenvolues } \end{array} \xrightarrow{} \begin{array}{c} eigenvolues } \begin{array}{c} eigenvolues } \begin{array}{c} eigenvolues } \end{array} \xrightarrow{} \begin{array}{c} eigenvo$ Definition: The Grothendieck ring of representations of the symmetric groups is $R = \bigoplus_{n \in \mathbb{N}} R(S(n)).$ structure of graded ring? we need to define a product $R(S(n)) \otimes R(S(m)) \longrightarrow R(S(n+m)).$ • induction and restriction of representations. given HCG, there is an abvious restriction map $\operatorname{Res}_{H}^{G}$: $\operatorname{R(G)} \longrightarrow \operatorname{R(H)}$ $(V, \varrho) \mapsto (V, \varrho_{H}).$ The converse construction is a bit more complicited. It relies on the identification ζ representations of a finite group $G \subseteq \zeta$ modules over the algebra $\mathbb{C} \subseteq \zeta$.

Indeed, given (V, ϱ) , CG sets on V by $(\sum c_g g) \cdot V = \sum c_g \varrho(q)(v)$ If $H \subset G$, then C + t is a subflyebra of CG, which ollows one to use tensor products to extend the base ring: $\operatorname{Tr} d_{\mathrm{H}}^{\mathrm{G}}(\mathrm{V}) = \operatorname{CG} \bigotimes_{\mathrm{T},\mathrm{H}}^{\mathrm{G}} \mathrm{V}.$ Notice that $\operatorname{Res}_{H}^{G}$ does not change the dimension, but dim $\operatorname{Ind}_{H}^{G}(V) = \frac{|G|}{|H|} \dim V$. Formula for induced characters: fix a family of representatives g_a H, ..., g_a H of G_{IH} . An other cormal basis e_a , ..., ed of V. A linear basis of Ind H(V) consides in the q: Be: We choose a scolar product which in the q: Be: We choose a scolar product which involves it critication of the scolar product which is the scolar pr $dn^{\mathrm{Ind}_{\mathrm{H}}^{\mathrm{G}}(\mathrm{V})}(q) = \sum_{i,j} \langle qq_i \otimes e_j | q_i \otimes e_j \rangle$ = gkh for a unique k, h \in H; the scalar product = 0 f k + i. $= \sum_{i:g_i^{-1}g_i \in H} \langle he_i | e_j \rangle = \sum_{i:g_i^{-1}g_i \in H} ch^{\vee}(g_i^{-1}g_i g_i;).$ For $V^{\lambda} \in S(n)$ and $V^{\mu} \in S(m)$ we define $V^{\lambda} \times V^{\mu} = \operatorname{Ind}_{S(n) \times S(m)} (V^{\lambda} \otimes V^{\mu}) \in \mathbb{R}(S(n+m)).$ representation of the product group So, R(G) is a graded algebra with a schlar product ... 2. The Frobenius isomorphism. Consider the characteristic map.

3. Frobenius formula for the characters of the symmetric group. Theorem: There is a way to like the irreducible representations of J(n) by integer partitions with size n such that $\mathcal{V}(\mathcal{V}^{\lambda}) = s_{1}$. (Toreaver, dim $\mathcal{V}^{\lambda} = 1 \text{ STE}_{\lambda}$) proof: First, notice that $\mathcal{V}(\mathcal{V}_{\text{trivid}}) = \sum \mathcal{V}(\mathcal{C}_{\mu}) = \sum_{\substack{p \neq n \\ p \neq n \\ p$ by the Jacobi-Trudy formula $\Psi^{-1}(s_{\lambda}) = \Psi^{-1}(\det(h_{\lambda_{1}^{*}-i+j})) = \sum_{i=1}^{n} \mathcal{E}(\sigma) \prod_{i=1}^{n} \mathcal{R}(\sigma) \bigvee_{trivial}(\mathcal{C}_{\lambda_{1}^{*}-i+\sigma(i)}).$ is a sum with coefficients in Z of representations of Cla). Havever $||_{S\lambda}||^2 = 1$ $\longrightarrow \Psi^{-1}(s_{\lambda}) = \pm_{\lambda} V^{\lambda}$ for some indexing. $\|V_{\text{irreduct;Ble}}\|^2 = 1$ Finally $(p_1)^n = \sum_{\lambda \in \mathcal{Y}(G)} |s_\lambda| = \int (d_1 \otimes \mathcal{Y}^\lambda) |v_\lambda|$ so $\psi^{-1}(s_\lambda) = + |v_\lambda| = \int (d_1 \otimes \mathcal{Y}^\lambda) |v_\lambda|$ so $\psi^{-1}(s_\lambda) = + |v_\lambda| = \int (d_1 \otimes \mathcal{Y}^\lambda) |v_\lambda|$ D. $\frac{Application}{Application}: ch^{\lambda}(\sigma_{p}) = \frac{\langle ch^{\lambda} | C_{p} \rangle n!}{card} = \frac{\langle ch^{\lambda} | Z_{p} \rangle}{card} = \frac{\langle ch^{\lambda} | Z_{$ where the algebraic observables of patitions as follows: $\sum_{\mu} (\lambda) = \int_{\Omega} \int_{k} \chi'(\sigma_{\mu}) f = |\lambda| \ge |\mu| = k,$ $\int_{\Omega} \int_{\Omega} \int_{\Omega} \int_{k} \int_{\Omega} \int_{$ We shall see next time the following:

$$\begin{array}{rcl} \hline \text{Theorem}: & n \end{pmatrix} & \text{The } \sum_{j=1}^{r} form \text{ an observe of functions an } M \\ & a) & \text{Actually this sligebra } G is also \\ G = & \text{OLE} p_{e}^{*}, p_{s}^{*}, \cdots, p_{e}^{*}, \cdots \end{array} \\ & a) & G is greated by & deg \\ & and also by & with \\ & y = |y| + l(y) \\ & w \end{pmatrix} & \text{We have } with \\ & p_{k}^{*} = \sum_{j=1}^{k} \frac{kl(y)}{\prod_{s}^{r}, (n;q)!} \sum_{j=1}^{r} + \text{ berms with weight } \leq k \\ & y : |y| + l(q) = k \\ \end{array} \\ & preliminary : & formulae for dim A and \\ & \sum_{k=1}^{r} (p_{k}^{*}, (n;q))! = \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! = \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! \\ & = \left[\sum_{k=1}^{k-1} (p_{k}^{*}, (n;q))! - \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! - \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! \\ & = \left[\sum_{k=1}^{k-1} (p_{k}^{*}, (n;q))! - \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! - \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! \\ & = \left[\sum_{k=1}^{k+1} (p_{k}^{*}, (n;q))! - \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! \\ & = \left[\sum_{k=1}^{k+1} (p_{k}^{*}, (n;q))! - \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! - \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! \\ & = \left[\sum_{k=1}^{k+1} (p_{k}^{*}, (n;q))! - \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! \\ & = \left[\sum_{k=1}^{k+1} (p_{k}^{*}, (n;q))! - \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! \\ & = \left[\sum_{k=1}^{k+1} (p_{k}^{*}, (n;q))! - \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! \\ & = \left[\sum_{k=1}^{k+1} (p_{k}^{*}, (n;q))! - \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! \\ & = \left[\sum_{k=1}^{k+1} (p_{k}^{*}, (n;q))! - \sum_{i=1}^{r} (p_{k}^{*}, (n;q))! \\ & = \left[\sum_{k=1}^{k+1} (p_{k}^{*}, (n;q)]! \\ & = \left[\sum_{k=1}^{k+1} (p_{k}^{*}, (n;q)]! \\ & = \sum_{k=1}^{r} (p_{k}^{*}, (n;q)]! \\ & =$$

Similarly:

 $dh^{\lambda}(c_{k}) = \langle S_{\lambda} \rangle \rho_{4}^{n-k} \rho_{k} >$ $= \sum_{x^{\lambda+q}} \sum_{i=1}^{n-k} \sum_{i=1}^$ $n^{bk} ch^{\lambda}(ck) = \sum_{i=1}^{n} \frac{n!}{\mu ke_i!} \Delta(\mu ke_i).$ $\sum_{k} (\lambda) = \sum_{i=1}^{n} \psi_{i} \psi_{k} \frac{1}{j \neq i} \frac{\psi_{i} - \psi_{j} - k}{\psi_{i} - \psi_{j}},$